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1. What is a mutual fund?  In what sense is it a financial intermediary?

A mutual fund represents a pool of financial resources obtained from individuals and companies, which is invested in the money and capital markets.  This process represents another method for economic savers to channel funds to companies and government units that need extra funds.

2. What are money market mutual funds?  In what assets do these funds typically invest?  What factors have caused the strong growth in this type of fund since the late 1970s?

Money market mutual funds (MMMFs) invest in assets that have maturities of less than one year.  These assets primarily are Treasury bills, negotiable certificates of deposit, repurchase agreements, and commercial paper.  The growth in MMMFs since the late 1970s initially occurred because of rising interest rates in the money markets, while Reg Q restricted interest rates on accounts in depository institutions.  Many investors moved their short-term savings from the depository institutions to the MMMFs as the spread in the earnings rate reached double digits.  A result of this activity was to introduce many investors to the capital markets for the first time.

3. What are long-term mutual funds?  In what assets do these funds usually invest?  What factors caused the strong growth in this type of fund during the 1990s?

Long-term mutual funds primarily invest in assets that have maturities of more than one year.  The most common assets include long-term fixed-income bonds, common stock, and preferred stocks.  Some money market assets are included for liquidity purposes.  The growth in these funds in the 1990s reflected the dramatic increase in equity returns, the reduction in transaction costs, and the recognition of diversification benefits achievable through mutual funds.

4. Using the data in Table 5-3, discuss the growth and ownership holding over the last twenty years of long-term funds versus short-term funds.

The dollar investment in the money market mutual funds (MMMF) exceeded the investment in the long-term funds (LTF) in 1980.  However, by 2001, the LTFs had more than a two to one advantage on the MMMFs, $4,135 billion to $2,241 billion.  The LTF grew at an annualized rate of 22.2 percent, and the MMMF grew at an annualized rate of 17.5 percent.  In each type of fund, the largest investment source was the household sector, with growth of 21.8 percent annual rate for the LTF and 14.7 percent for the MMMF.  

5.
Why did the proportion of equities in long-term funds increase from 38.3 percent in 1990 to over 70 percent by 2000, and then decrease to 62 percent in 2002?  How might an investor’s preference for a mutual funds objectives change over time?

The primary reason for the increased proportion of funds in equities during the 1990s was the strength of the equity market that was driven by the underlying strength of the economy during this period.  Contrarily, as the economy softened in the early 2000s, investors retreated somewhat from equities as preferred investments.

The pattern of investor preferences may change over the life of an investor for reasons other than changes in economic activity. Aggressive high growth funds may be preferred during the early career years of the 20s, 30s, and into the 40s.  As investors mature and retirement becomes a closer reality, investors may switch to a balance of growth and income funds.  Finally, at retirement investors may try to protect their investment savings by switching to high yield stock and bond funds.

6.
How does the risk of short-term funds differ from the risk of long-term funds?

The principal type of risk for short-term funds is interest rate risk, because of the predominance of fixed-income securities.  Because of the shortness of maturity of the assets, which often is less than 60 days, this risk is mitigated to a large extent.  Short-term funds have virtually no liquidity or default risk because of the types of assets held.  Long-term equity funds typically are well diversified, and the risk is more systematic or market based.  Bond funds have extensive interest rate risk because of their long-term, fixed-rate nature.  Sector, or industry-specific, funds have systematic (market) and unsystematic risk, regardless of whether they are equity or bond funds.

7.
What are the economic reasons for the existence of mutual funds; that is, what benefits do mutual funds provide for investors?  Why do individuals rather than corporations hold most mutual funds?

One major economic reason for the existence of mutual funds is the ability to achieve diversification through risk pooling for small investors.  By pooling investments from a large number of small investors, fund managers are able to hold well-diversified portfolios of assets.  In addition, managers can obtain lower transaction costs because of the volume of transactions, both in dollars and numbers, and they benefit from research, information, and monitoring activities at reduced costs.

Many small investors are able to gain the benefits of the money and capital markets by using mutual funds.  Once an account is opened in a fund, a small amount of money can be invested on a periodic basis.  In many cases the amount of the investment would be insufficient for direct access to the money and capital markets.  On the other hand, corporations are more likely to be able to diversify by holding a large bundle of individual securities and assets, and money and capital markets are easily accessible by direct investment.  Further, an argument can be made that the goal of corporations should be to maximize shareholder wealth, not to be diversified.

8.
What are the principal demographics of household owners who own mutual funds?  What are the primary reasons why household owners invest in mutual funds?

Investors tend to be in their primary income generating years, are married with college degrees, have other retirement plans, and prefer equity funds as opposed to bond, hybrid, or money market funds.  Most individuals are using the funds as vehicles for retirement savings, while many households are using the funds as savings vehicles for children’s education.

9.
What change in regulatory guidelines occurred in 1998 that had the primary purpose of giving investors a better understanding of the risks and objectives of a fund?

The SEC recommended that the original lengthy prospectuses, which described the objectives and investments of a fund, should be replaced by a two-page profile written in plain English.  The profile should be designed to increase the ability of investors to understand the risks and objectives of the fund.

10.
What are the three possible components reflected in the return an investor receives from a mutual fund?

The investor receives the income and dividends paid by the companies, the capital gains from the sale of securities by the mutual fund, and the capital appreciation of the underlying assets.

11.
An investor purchases a mutual fund for $60.  The fund pays dividends of $1.75, distributes a capital gain of $3, and charges a fee of $3 when the fund is sold one year later for $67.50.  What is the net rate of return from this investment?

The dollar return is $1.75 + $3 + $7.50 - $3 = $9.25.  The rate of return is $9.25/$60 = 15.42%.

12.
How is the net asset value (NAV) of a mutual fund determined?  What is meant by the term marked-to-market?

Net Asset Value (NAV) is the average market value of each ownership share of the mutual fund.  The total market value of the fund is determined by summing the total value of each asset in the fund.  The value of each asset can be found by multiplying the number of shares of the asset by the corresponding price of the asset.  Dividing this total fund value by the number of shares in the mutual fund will give the NAV for the fund.  

The NAV is calculated at the end of each daily trading session, and thus reflects any adjustments in value caused by (a) changes in value of the underlying assets, (b) dividend distributions of the companies held, or (c) changes in ownership of the fund.  This process of daily recalculation of the NAV is called marking-to-market.

13.
A mutual fund owns 400 shares of Fiat, Inc., currently trading at $7, and 400 shares of Microsoft, Inc., currently trading at $70.  The fund has 100 shares outstanding.

a. What is the net asset value (NAV) of the fund?


NAV = (400 x $7 + 400 x $70)/100 = $30,800/100 = $308.00.

b. If investors expect the price of Fiat shares to increase to $9 and the price of Microsoft shares to decrease to $55 by the end of the year, what is the expected NAV at the end of the year?


Expected NAV = (400 x $9 + 400 x $55)/100 = $25,600/100 = $256.00, or a decline of 16.88 percent.

c. Assume that the expected price of the Fiat shares is realized at $9.  What is the maximum price decrease that can occur to the Microsoft shares to realize an end-of-year NAV equal to the NAV estimated in (a)?


(400 x $9)/100 + (400 x PM)/100 = $308.00, implies that PM = $68.00, a decrease of $2.00.

14.
What is the difference between open-end and closed-end mutual funds?  Which type of fund tends to be more specialized in asset selection?  How does a closed-end fund provide another source of return from which an investor may either gain or lose?

Open-end funds allow shares to be purchased and redeemed according to investor demand. The NAV of open-ended funds is determined only by changes in the value of the assets owned.  In closed-end funds, the number of shares of the fund is fixed.  If investors need to redeem their shares, they sell them to another investor.  Thus the demand for the fund shares can provide another source of return for the investors as the market price of the fund may exceed the NAV of the fund.  Closed-end funds, such as real estate investment trusts, tend to be more specialized.

15.
Open-end Fund A owns 100 shares of ATT valued at $100 each and 50 shares of Toro valued at $50 each.  Closed-end Fund B owns 75 shares of ATT and 100 shares of Toro.  Each fund has 100 shares of stock outstanding.

a. What are the NAVs of both funds using these prices?


NAVopen-end = (100 x $100 + 50 x $50)/100 = $125.00.


NAVclosed-end = (75 x $100 + 100 x $50)/100 = $125.00.

b. Assume that in one month the price of ATT stock has increased to $105 and the price of Toro stock has decreased to $45.  How do these changes impact the NAV of both funds?   If the funds were purchased at the NAV prices in (a) and sold at month-end, what would be the realized returns on the investments?


NAVopen-end = (100 x $105 + 50 x $45)/100 = $127.50.


Percentage change in NAV = ($127.50 - $125.00)/$125.00 = 2.00%.


NAVclosed-end = (75 x $105 + 100 x $45)/100 = $123.75.


Percentage change in NAV = ($123.75 - $125.00)/$125.00 = -1.00%.

c. Assume that another 100 shares of ATT are added to Fund A.  What is the effect on A’s NAV if the stock prices remain unchanged from the original prices?


NAVopen-end = (200 x $100 + 50 x $50)/100 = $225.00.

16.
What is the difference between a load fund and a no-load fund?  Is the argument that load funds are more closely managed and therefore have higher returns supported by the evidence presented in Table 5-7?

A load fund charges an up-front fee that often is called a sales charge and is used as a commission payment for sales representatives.  These fees can be as high as 8.5 percent.  A no-load fund does not charge a sales fee, although a small annual fee can be charged to cover certain administrative expenses.  This small fee, which is called a 12b-1 fee, usually ranges between 0.25 and 0.35 percent of assets.  According to the data in Table 5-7, the load funds have adjusted returns that are decreased after the fee is removed.  In each case the relative performance ranking of the fund decreases after the load is subtracted.

17.
What is a 12b-1 fee?  Suppose you have a choice between a load fund with no annual 12b-1 fee and a no-load fund with a maximum 12b-1 fee. How would the length of your expected investment horizon, or holding period, influence your choice between these two funds?

The 12b-1 fee is allowed by the SEC to provide assistance in covering administrative expenses for no-load funds.  Thus, in terms of fees and without consideration of time value issues, a 4.00 percent load would be equivalent to the 12b-1 fee for 16 years.  This comparison would have to be adjusted for change in the value of the funds assets over time, since the 12b-1 fee is administered on an annual basis against the fund value at that time.  

18.
Suppose an individual invests $10,000 in a load mutual fund for two years.  The load fee entails an up-front commission charge of 4 percent of the amount invested and is deducted from the original funds invested.  In addition, annual fund operating expenses (or 12b-1 fees) are 0.85 percent.  The annual fees are charged on the average net asset value invested in the fund and are recorded at the end of each year.  Investments in the fund return 5 percent each year paid on the last day of the year.  If the investor reinvests the annual returns paid on the investment, calculate the annual return on the mutual fund over the two year investment period.

Annual Return Calculation Based on Text Example 5-4:
Annualized load fee = 4% ( 2 years
= 2.00%

Annual fund operating expense 
= 0.85%
Total annual cost 


= 2.85% ( Annual return = 5.00% - 2.85% = 2.15%

Annual Return Calculation Based on Present Value of Investment:
Initial investment in the fund 
= $10,000

Front-end load of 4.00% 
=      $400
Total investable funds

=   $9,600

Investment value at end of year one
= $9,600 x 1.05
   = $10,080.00

Operating expenses based on average NAV = $9,840 x .0085 =         $83.64
Net investable funds for year two



   =   $9,996.36

Investment value at end of year two
= $9,996.36 x 1.05
 
 = $10,496.18

Operating expenses based on average NAV = $10,246.27 x .0085 
=         $87.09

Net investment at end of year two




=  $10,409.09
Average annual compound return:


$10,409.09 = $10,000(1 + g)2  ( g = 2.025%

19.
Who are the primary regulators of the mutual fund industry?  How do their regulatory goals differ from those of other financial institution?

The Securities and Exchange Commission (SEC) is the primary regulator of the mutual fund industry.  The SEC is not concerned with the administration of sound economic monetary policy, which is part of the goal of the Federal Reserve System, but rather is primarily concerned with the protection of investors from possible abuses by managers of mutual funds.  

Several pieces of legislation have been enacted to clarify and assist this regulatory process.  Under the Securities Act of 1933, mutual funds must file a registration statement with the SEC and abide by the rules established under the act for the distribution of prospectuses to investors.  The Securities Exchange Act of 1934 establishes antifraud provisions aimed at the accurate transmission of information to prospective investors.  The 1934 act also appointed the National Association of Securities Dealers to supervise the distribution of mutual fund shares.  The Investment Advisors Act of 1940 regulates the activities of mutual fund advisors, and the Investment Company Act establishes rules involving fees and charges.  The Insider Trading and Securities Fraud Enforcement Act of 1988 addresses issues of insider trading, and the Market Reform Act of 1990 provides for the establishment of circuit breakers to halt trading in case of severe market downturns.  Finally, the National Securities Markets Improvement Act of 1996 exempts mutual funds from the regulatory burden of state securities regulators.
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